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§5.9 '�)�qEPK?TQL +fPJ'�)�q���$P�)�G'�)�q?���'�)�q�)�q�.,�)� Newton 7q�^�!K�D|���'�)�q��R m f(x1, x2, · · · , xn) ∈ K[x1, · · · , xn], i:'!h�� 1 ≤ i 6= j ≤ n,  
f(x1, · · · , xi, · · · , xj , · · · , xn) = f(x1, · · · , xj, · · · , xi, · · · , xn),&� f(x1, x2, · · · , xn) t K l n $'�)�q�H x2

1 + x2
2 + x2

3 tk$'�)�q�Æt{$'�)�q� x2
1 − x1x2 Æt+$'�)�q�V f(x1, x2, · · · , xn) t n $'�)�q��0	��Ft' (x1, x2, · · · , xn) �h�_T (xk1

, xk2
, · · · , xkn

),  f(xk1
, xk2

, · · · , xkn
) = f(x1, x2, · · · , xn).JN '�)�q.=t'�)�q�'�)�q.At'�)�q�'�)�q�)�qt'�)�q�UI m g(x1, · · · , xn), h(x1, · · · , xn) t'�)�q�&

g(· · · , xi, · · · , xj, · · ·) + h(· · · , xi, · · · , xj , · · ·)

= g(· · · , xj , · · · , xi, · · ·) + h(· · · , xj , · · · , xi, · · ·);

g(· · · , xi, · · · , xj , · · ·)h(· · · , xi, · · · , xj , · · ·)

= g(· · · , xj, · · · , xi, · · ·)h(· · · , xj , · · · , xi, · · ·).m fi(x1, · · · , xn), 1 ≤ i ≤ m t K[x1, · · · , xn] �'�)�q� g(y1, · · · , ym) t
K[y1, · · · , ym] l�)�q�&

h(x1, · · · , xn) = g(f1(x1, · · · , xn), f2(x1, · · · , xn), · · · , fm(x1, · · · , xn))�t9! x1, · · ·, xn �'�)�q� 2
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+�'�)�q���$P��T'�)�q����'�)�q�
σ1 = x1 + x2 + · · · + xn = Σn

i=1xi

σ2 = x1x2 + · · ·+ x1xn + · · ·+ xn−1xn = Σ1≤i<j≤nxixj

σ3 = Σ1≤i<j<k≤nxixjxk

...

σn = x1x2 · · ·xn.V m f(x) = (x − x1)(x − x2) · · · (x − xn), & f(x) = xn − σ1x
n−1 + σ2x

n−2 +

· · ·+ (−1)nσn.�Z$P1��h�'�)�q%N���r���'�)�q�)�q�A>BOMD=�G m f(x1, x2, · · · , xn) t K l'�)�q�&	�% K l��)�q g(y1, y2, · · · , yn), p� f(x1, x2, · · · , xn) = g(σ1, σ2, · · · , σn).UI�%��m f(x1, x2, · · · , xn)�6#_T�u�
x� axi1
1 xi2

2 · · ·xin
n , a 6=

0, &	 i1 ≥ i2 · · · ≥ in. sol��� f(x1, x2, · · · , xn) t'�)�q�j i1 < i2,& xi2
1 xi1

2 · · ·x
ij
j · · ·xin

n �t�)�q���q�"6#_TW(�U g(x1, x2, · · · , xn) = aσi1−i2
1 σi2−i3

2 · · ·σ
in−1

n−1 σin
n , 
g g(x1, x2, · · · , xn) �'�)�q�bu�� axi1−i2

1 (x1x2)
i2−i3 · · · (x1 · · ·xn)in = axi1

1 xi2
2 · · ·xin

n ," f(x1, x2, · · · , xn)�u�Æ��U f1(x1, · · · , xn) = f(x1, · · · , xn)−g(x1, · · · , xn),& f1(x1, · · · , xn) t x1, · · · , xn�'�)�q�u�
x�6#_T% f(x1, · · · , xn) �u�_T.>�52lw;,��� f0 = f, f1 = f0−g1, f2 = f1−g2, · · · , fs−1 = fs−2−gs−1, fs = fs−1−gs = 0,!t f = f1 + g1 = f2 + g1 + g2 = · · · = g1 + g2 + · · ·+ gs, * gi t σ1, σ2, · · · , σn �)�q�8 f N�r� σ1, σ2, · · · , σn �)�q�����m g(y1, y2, · · · , yn), h(y1, y2, · · · , yn) t K l n $)�q�p
f(x1, x2, · · · , xn) = g(σ1, σ2, · · · , σn) = h(σ1, σ2, · · · , σn).U ϕ(y1, y2, · · · , yn) = g(y1, y2, · · · , yn)−h(y1, y2, · · · , yn),& ϕ(σ1, σ2, · · · , σn) = 0,�Y�, ϕ(y1, y2, · · · , yn) = 0. -,,�1&�Em ϕ(y1, y2, · · · , yn) = ayk1

1 yk2

2 · · · ykn
n +

2



by
j1
1 y

j2
2 · · · yjn

n +· · ·,`3 a, b, · · ·LÆ� 0,b5��q3	�O��% ϕ(σ1, σ2, · · · , σn)3
aσk1

1 σk2

2 · · ·σkn
n = axk1

1 (x1x2)
k2 · · · (x1x2 · · ·xn)kn + · · ·

= axk1+k2+···+kn

1 xk2+k3+···+kn

2 · · ·xkn
n + · · ·,

bσ
j1
1 σ

j2
2 · · ·σjn

n = bx
j1
1 (x1x2)

j2 · · · (x1x2 · · ·xn)jn + · · ·

= bx
j1+j2+···+jn

1 x
j2+j3+···+jn

2 · · ·xjn
n + · · ·,�� aσk1

1 σk2

2 · · ·σkn
n " bσ

j1
1 σ

j2
2 · · ·σjn

n �?� x1, x2, · · · , xn �)�q>u�LÆÆ���� ϕ(σ1, σ2, · · · , σn) 6= 0. W(� 2H 1 G f(x1, x2, x3) = x2
1x2 + x2

1x3 + x1x
2
2 + x1x

2
3 + x2

2x3 + x2
2x3 + x2x

2
3 ��

σ1, σ2, σ3 �)�q�UI (,�)f(x1, x2, x3) �u�
x� x2
1x2, U

σ2−1

1 σ2 = σ1σ2 = (x1 + x2 + x3)(x1x2 + x1x3 + x2x3) = x2
1x2 + x2

1x3 + x1x
2
3 + x2

2x3 +

x2x
2
3 + 3x1x2x3, }� f(x1, x2, x3) = σ1σ2 − 3σ3.

(,+) *ta�)�q�u�� x2
1x2, 1
B� (2, 1, 0). ,[;�31
 fi �u�1
B2^� (1, 1, 1), Æ����q� σ2−1

1 σ1−0

2 σ0
3 = σ1σ2, σ1−1

1 σ1−1

2 σ1
3 = σ3.m f = σ1σ2 + bσ3, U x1 = x2 = x3 = 1, σ1 = 3, σ2 = 3, σ3 = 1.f(x1, x2, x3) = 6.� 6 = 3 · 3 + b · 1 � b = −3, �� f(x1, x2, x3) = σ1σ2 − 3σ3. 2H 2 G'�)�q f(x1, x2, x3) = (x2

1 + x2
2)(x

2
1 + x2

3)(x
2
2 + x2

3) ����'�)�q�)�q�UI f ta�)�q��x� 6, u�� x4
1x

2
2, 1
� (4, 2, 0), �x� 6,1
� (4, 2, 0) ��2N^t (4, 1, 1), (3, 3, 0), (3, 2, 1), (2, 2, 2), Æ����q�

σ4−1

1 σ1−1

2 σ1
3 = σ3

1σ3, σ
3−3

1 σ3−0

2 σ0
3 = σ3

2, σ
3−2

1 σ2−1

2 σ1
3 = σ1σ2σ3, σ

2−2

1 σ2−2

2 σ2
3 = σ2

3 , m
f = σ2

1σ
2

2 + aσ3

1σ3 + bσ3

2 + cσ1σ2σ3 + dσ2

3,e x1, x2, x3 ~v/��� a = −2, b = −2, c = 4, d = −1. }� f = σ2
1σ

2
2 − 2σ3

1σ3 −

2σ3
2 + 4σ1σ2σ3 − σ2

3.V j f /a�)�q�G f 0J�a�)�q.=�k� Newton 7q
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Newton CMU sk = xk
1 + xk

2 + · · ·+ xk
n,� k ≤ n n� sk − sk−1σ1 + sk−2σ2 − · · ·+ (−1)k−1s1σk−1 + (−1)kkσk = 0.� k > n n� sk − sk−1σ1 + sk−2σ2 − · · · + (−1)nsk−nσn = 0.SG m f(x) = (x − x1)(x − x2) · · · (x − xn) = xn − σ1x

n−1 + · · ·+ (−1)nσn,&
xk+1f ′(x) = (s0x

k + s1x
k−1 + · · ·+ sk−1x + sk)f(x) + g(x),`3 degg(x) < n.UI � f ′(x) =

∑n

i=1

1

x−xi
f(x), }�

xk+1f ′(x) =
n

∑

i=1

xk+1

x − xi

f(x) =
n

∑

i=1

xk+1 − xk+1

i

x − xi

f(x) +
n

∑

i=1

xk+1

i

x − xi

f(x)

=

n
∑

i=1

(xk + xix
k−1 + x2

i x
k−2 + · · · + xk−1

i x + xk
i )f(x) + g(x),*Q g(x) =

x
k+1

i

x−xi
f(x), 
g degg(x) < n. ���

xk+1f ′(x) = (s0x
k + s1x

k−1 + · · ·+ sk−1x + sk)f(x) + g(x),`3 degg(x) < n. 2
Newton CM?UI�� f(x) = xn − σ1x

n−1 + · · ·+ (−1)iσix
n−i + · · ·+ (−1)n−1σn−1x + (−1)nσn,}�

xk+1f ′(x) = xk+1[nxn−1 − (n − 1)σ1x
n−2 + · · ·+ (n − i)(−1)iσix

n−i−1

+ · · ·+ 2(−1)n−2σn−2x + (−1)n−1σn−1].��P-
xk+1[nxn−1 − (n− 1)σ1x

n−2 + · · ·+ (−1)i(n− i)σix
n−i−1 + · · ·+ (−1)n−1σn−1]

= (s0x
k + s1x

k−1 + · · · + sk−1x + sk)(x
n − σ1x

n−1 + · · · + (−1)nσn) + g(x).
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� k ≤ n n��IlqS& xn �
x��� degg(x) < n, ��
(−1)k(n − k)σk = sk − σ1sk−1 + σ2sk−2 + · · ·+ (−1)kσks0,8 

sk − σ1sk−1 + σ2sk−2 + · · ·+ (−1)k−1σk−1s1 + (−1)kkσk = 0.� k > n n�lq:& xn �
x� 0, 8 
sk − σ1sk−1 + σ2sk−2 + · · · + (−1)nσnsk−n = 0. 2H 3 n = 3 n�

s1 = x1 + x2 + x3 = σ1,

s2 = x2
1 + x2

2 + x2
3 = (x1 + x2 + x3)

2 − 2(x1x2 + x1x3 + x2x3) = σ2
1 − 2σ2,

s3 = x3
1 + x3

2 + x3
3 = (x1 + x2 + x3)

3 − 3s(x2
1x2) − 6x1x2x3.* s(x2

1x2) = x2
1x2 + x2

1x3 + x1x
2
2 + x1x

2
3 + x2

2x3 + x2x
2
3 = σ1σ2 − 3σ3, }�

s3 = σ3

1 − 3(σ1σ2 − 3σ3) − 6σ3 = σ3

1 − 3σ1σ2 + 3σ3.d s3 "+4.,�� Newton 7q�s3−s2σ1+s1σ2−3σ3 = 0. }� s3 = s2σ1−

s1σ2+3σ3 = (σ2
1−2σ2)σ1−σ1σ2+3σ3 = σ3

1−3σ1σ2+3σ3. �P�s4−s3σ1+s2σ2 = 0.8 s4 = s3σ1 − s2σ2 = (σ3
1 − 3σ1σ2)σ1 − (σ2

1 − 2σ2)σ2 = σ3
1 − 3σ2

1σ2 − σ2
1σ2 + 2σ2

2.H 4 J�T.�8�














x1 + x2 + x3 + x4 = 4
x2

1 + x2
2 + x2

3 + x2
4 = 4

x3
1 + x3

2 + x3
3 + x3

4 = 4
x4

1 + x4
2 + x4

3 + x4
4 = 4Fm x1, x2, x3, x4 t 4�2
x)�q f(x) = x4−σ1x

3+σ2x
2−σ3x+σ4 �6���- s1 = s2 = s3 = s4 = 4, R� Newton 7qN� σ1 = 4, σ2 = 6, σ3 = 4, σ4 = 1,C x1, x2, x3, x4 t f(x) = x4 −4x3 +6x2 −4x+1 = 0 � 4 46�� f(x) = (x−1)4,8 xi = 1, 1 ≤ i ≤ 4 �.�8�J�H 5 d�4 n �.�p s1 = s2 = · · · = sn−1 = 0.
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F � Newton 7q� σ1 = σ2 = · · · = σn−1 = 0, }� xn + (−1)σn = 0, C
xn + a = 0 �}d��4)�q�<�� P221 1.(1), 2, 3(n = 3), 4.
� 1: m f t�<��q x3

1x2 ��x9��k$'�)�q�
�� f , �G f �r���'�)�q�r�
� 2: d�4 n �)�qp s2 = s3 = · · · sn = 0.zM�m℄4 6 �)�qV7 s1 = s3 = 0, &
s7

7
=

s5

5
·
s2

2
.�'�� P221.6.
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